t

N & 0l & At

g Al

HE - B (3H) - KISAY - BYS il HImEET
859,793 885,253 A 25,460
< 1,210
Al 858,583
PES (LS /NLHE - HEXH) 693,891 718,939 A 25,048
< 1,210
Al 692,681
| So& = 417,003 445,218 A28,215
< 1,210
Al 415,793
SH S 374,807 406,726 A 31,919
101 @124l 6,659 6,162 497
4 JI2ZtHZ22 s+ 6,659 6,162 497
OFSAH M L HIUMZH HSEe 6,659
—Jlas 48,240 * 18 * 110 5,307
— =54 48,2403 ~ 1% + 232 1,110
— s sSsIt= 48,240 * 18 « 5 242
201 Let24E] 135,664 223,648 AB87,984
01 At 22l 27,869 97,989 AT70,120
OZMERIXNA R 7,400
—MIE ERINM(HEMN L SESHAAM)
80,0003 * 402 A 3,200
—=ANE ERIANAM(HEMN L SESHAM)
70,0003 * 402 A 2,800
—&Jlg2 SE%5AMN 2XAA
70,0002 * 20t A 1,400
OFII2 SSUGA U2 2284
60,000 = 15002 » 13 900
OXNgAedd 50,000&  32& 1,600
ONYHYER A28 X 7Y
80,000& = 48 = 54 1,600
OSMHMEIl Z& 35,000& * 50& 1,750
OFSHE Z8H =&4| 700,000& =« 3CH 2,100
OXLUEHAZI HWEX (ANZE)
50,0003 502 A 2,500
ODXAMN I8 NEZEHI 3 7€ 10,019
— &4 553,000& = 8JH 4,424
= 1,937,000 * 124 1,937
—RAEEH EE 50,0002 * 3K 150
— XA 560,000& * 1K 560
— Z2IX N 938,000& * 1K 938
—EdAH XA 425,000& = 14 425
—EHEH 279,000& = 14 279
— 32 |FUE 1,306,000& * 14 1,306




2N
X ZH -
L= B

el

A= 1
N=THE &S (L3 /NLEE - WEXH)
PR [ ] SR

SA BB O () - MM - HES il
02 3322l 107,795 125,659 A17,864
OHYIXIZ 48 =25 50& = 25,000A 1,250
ONAAHH S8 =2 80& = 80,000 6,400
OXNEAMN Hi=d =2 50& = 50,000A 2,500
OCD/ATM IIEY R =25 1002 = 20,0004 2,000
OXNZAN DXNM RSEZ(AIMEZE) 87,000
— &I 1,950& 10,0004 19,500
— gt 270& * 250,000A 67,500
OXYA HaID| SAE= 4,800
—NEHTeH RAES 400,000& = 12& 4,800
ONaAHESEALE FRNE S
320,410& = 12& 3,845
203 PR =&l 3,000 3,000 0
03 Al =X A2 =EH| 3,000 3,000 0
ON=Zt g2 =& 3,000,000& = 14 3,000
204 R A H| 37,200 38,400 A 1,200
03 EZYFZHI 37,200 38,400 A 1,200
OM=REgs2&d 100,000& » 31H » 128 37,200
207 A& H| 143,000 0 143,000
02 & A I 143,000 0 143,000
OMYSe ARS 2tE Y2 AIAE
113,000,000& * 14 113,000
OXYAMN ELAMF OI0IXNE2 AIAE
30,000,000& * 14 30,000
306 23 6,342 6,076 266
01 &3 6,342 6,076 266
OXNgNMEEIIZ &2H3 6,342,000 14 6,342
308 XXM SO0 A 42,942 0 42,942
10 3J/ 2SS AEHALS I 42,942 0 42,942
OHEZXEAN 29 X&Hl 27,692,000& * 14 27,692
OSEXNYM &8 X3Hl 14,336,000& * 14| 14,336
OLMSEAAE 2% X2
914,000& * 14 914
AM 20E 38,156 37,162 994
101 1A bl 13,316 12,322 994
M4 II2HHZ22NSES 13,316 12,322 994
OAM HEXts dM4 L ZALEH| 13,316
—-Jl=s 48,2403 * 2% » 110 10,613
—FF5Y 48,240 * 2% * 23 2,220
—dsssit= 48,2403 * 2% x 52 483
201 L2l 24,840 24,840 0




M MFHEEHS (LS IHY/ANLSEE - WEIH)
|

(o
M- B8 a(3) - HEAY - BAS %@i HD=2
01 AP 22| H| 24,840 0
OAAH H210XAN gl 15,400
— XNSO0l™H 2XAM 70,000& = 408FA 2,800
—AJ)|I2 SHIXNAGBIH M=)
70,000 = 1508+ A 10,500
—&HII2 YHIXNN(MAAN EX2)
70,000 = 308FA 2,100
OFIIZ AM % S2HL(NSLSHEE
) 60,000 * 1504 * 53] 4,500
OFINE NLAN H8 =s28Z0 AIS2
10,0008 = 202 = 204 = 53] 2,000
OYFANXLHAAARS EE 2T
70,0008 = 7¥H * 63l 2,940
Xt MAZMYH W (Z) 4,040 2,710
o= 1,210
Al 2,830
202 o4 H| 4,040 2,710
o 1,210
Al 2,830
03 2220 4,040 2,710
e NR222 XNSAH YW oHHS>
22 =22 | 4,040,000& = 1&H 4,040
== 1,210
Al 2,830
Lol Xl 4 78,112 N 12,730
ol Al 2= 78,112 AN 12,730
201 YEr2 Y| 66,112 2,340
01 AP 2t 2] H| 16,100 0
ON=2 2ot DX A
70,0008 * 102+A 700
OXNZEAMH HMEDXNAM S 70,0008 = 1008+ A 7,000
OXNsSA Hs ot HX 2 MASK
500,0008 = 38FA 1,500
OME M e 8588 a0t
60,000 * 15004 * 63l 5,400
OME X e s X0 &0t
60,000 * 54 = 53] 1,500
02 E2=2=2%H| 50,012 2,340
OMEMHEDIA &8 22
270 * 20,0004 = 43| 21,600
OXNSIHHSTAX WA &8 2QER2
270 * 6,00021 1,620
OFXEI s 2 1,000 = 2,00024 2,000
OPDA R X £ £=H| 131,000 * 128 1,572
ONMEXEHSTHAXIANAL RAE£H|
330,000& = 12& 3,960

_3_




2AM: N2
H: UHFTHEES (LY /ANLHE - HEXRZ)
Sl MY I CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OMENSENHEE M3 HE RERS
1,950& * 300 585
OMEX MEME (N ¥ SN L& 28
23 1,950& * 500 975
O3 X+ (SHUBSHE M)
600,000& = 53| 3,000
OMEHE X3 MUlA 0l (27502t 0| et
HEZ) 4,000,000& = 14 4,000
OMExteg HAQ & oIE HE
3,000,000& = 14 3,000
OMEXIAAMAIAH JHIFE LS5t
7,700,000& = 14 7,700
303 L&t 3 12,000 12,000 0
01 243 12,000 12,000 0
OWEE MEM == Z&S
5,000,000& = 23l 10,000
ONEE Helsg FaTa3
1,000,000& =* 23| 2,000
N2 SUE 59,929 47,122 12,807
N2l SUE 59,929 47,122 12,807
101 @124l 6,659 6,162 497
04 D12t Z22EE = 6,659 6,162 497
OAMe+=2 & XA 2AHE & S=2SIA
ol 6.659
—Jlz2s 48,240 * 18 * 110& 5,307
- F5= 48,2403 + 198 » 23¢ 1,110
—dlmrsFItsE 48,2403 *~ 198 = 5Y 242
201 £B-2%| 9,420 9,760 A 340
01 At 22l 9,420 9,760 A 340
ONg A= 200& = 1,0000H 200
ON2=g ER10XA 70,0003 » 90 A 6,300
OAMe+=2 Mg dMEe =9
60,0003 = 15004 + 23] 1,800
OJRHAAEE 4 ¢
70,0003 * 8Y = 23| 1,120
308 MtXIEHSOIH 28,250 0 28,250
10 SII 2 SOICHEHE & X O & A& I 28,250 0 28,250
OM2=LAAE SIE=HI
25,550,000& = 14 25,550
OM2Ia=AIAE BPR/ISP ALY
2,700,000& = 14| 2,700
405 Xt&tE SHI 15,600 5,200 10,400
01 AL EFH S 15,600 5,200 10,400
Ox=¢ZX 2HII #&  2,600,000& = 604 15,600




2N N2

SRS PN E S I B /LY - HEXE)

ool Jpe = A (ol &)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
NG =D T A 137,847 134,757 3,090
HE =LA T A 137,847 134,757 3,090
101 @124l 32,997 33,927 A 930
04 0I2ZtHZ22 s 2+ 32,997 33,927 A 930
OMEFEAINA ZARH 32,997
—Jlzs 48,2403 * 998 » 30€ » 23 26,050
- =54 48,2409 * 9H » 6 * 23 5,210
—oXRIENrY
8,240 * 9 * 2& » 23 1,737
201 ¢4l 102,330 100,830 1,500
01 AF2 22l 102,330 100,830 1,500
O0IBA BSFEUIA AS442 3,750
— ZZ AtHI 50,000& = 1000H& = 1/2 2,500
— EZH| 25,000¥ = 10004 * 1/2 1,250
OMEFEAINZ MFEN S0
50,000& * 258tA 1,250
OMEFEUIN2 ZNE R0
50,000& = 30=tA 1,500
OS2 0AH| 2,520
—HEFEUIARA Y MFNE YBEY
6,000% = 3% » 1402 » 23| * 1/2 2,520
O FEIb2 TAOHY Qg 23X BD 84
B 60,0003 = 15014 + 23] 1,800
OMEFEUINZ ASZH By
8,000& * 6850H 5,480
OMgFedz sig S 28X P
35,000& * 502 1,750
OMEFEUIN2 AHBIA S 248 77,440
—AFHIH HEB
48,400 * 25,0005 * 12% * 1/2 72,600
—SJAMBEIZ 2B
48,4009 * 5005 * 50% * 30% * 1/2 1,815
—AFHIA A
48,400% * 2505 * 50% * 1/2 3,025
ORstEIIs &4 4+¢
70,000% = 1298 * 73] = 1/2 2,940
OMEFEIN2 SZEA T2 RN 24|
600,000& * 8copy * 1/2 2,400
OJHE 354021 3 & Z AH(MAPF INDER) £+ 20| &
394 RXE=H1,000,0008 * 3CH = 1/2 1,500
202 04l 2,520 0 2,520
01 SLHOYI 2,520 0 2,520
ONgFeitzge = 2,520
— 2L ofHl
20,0002 » 3% » 72 « 128 » 1/2 2,520




2N N2

HE: GEWRASS (LD
b

02

H/XNLHA - W)

Sl MEEs EERED
= - = 4 &
SH BB (3H) - NRAE - BAS of 4 o4 il HI RS2
N &= 1,000 1,000 0
gEF24 MAZTA 1,000 1,000 0
201 B2 S 1,000 1,000 0
01 At 22l bl 1,000 1,000 0
OXNEM MHEEAMN R 2,500% = 400A 1,000
HY2HZH (MR (OIEH/IIE) 165,902 166,314 AN412
=23l 165,902 166,314 AN412
Jl=23dHl 165,902 166,314 AN412
201 LBt2 32,102 32,794 A 692
01 At 22l bl 32,102 32,794 A 692
OZAEXN 7 15,0008 318t » 128 5,580
OS2 0AHI 6,000& = 64 = 318 = 123 13,392
oggt =2 100,000& * 12E 1,200
O2nl ETAZLYH 50,000& » 12& 600
Oarl =4t 9,470
— S A =2 500,000& = 2CH 1,000
— ZeEJl =cal 100,000& * 504 = 50/100 250
—SAI EH 200,000 * 53| = 2CH 2,000
— TR (S
200,000 * 53| * 5CH 5,000
—PC =¢cl 100,000¥ * 31CH * 20/100 620
— JIEt =2l 50,000& » 12& 600
OJIEt ALR 22l 5,000& = 318 ~ 12E 1,860
202 Ol 128,340 128,000 340
01 =LHOIHI 128,340 128,000 340
ON=L g2xa 128,340
— ZLHOIHI 20,0008 * 318 » 122 » 12& 89,280
— 22l dl 90,000& = 318 * 14 39,060
203 2R =AY 4,260 4,320 A 60
04 FANE2EERFAH| 4,260 4,320 A60
ORN2EERFAH 355,000& * 128 4,260
204 XM A H| 1,200 1,200 0
01 MM SR HY| 1,200 1,200 0
OAMSPR+HHH (MRLE)
100,000 * 18 « 123 1,200




